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4. fcos4x dx  [1.5]

5. fm dZL’ [10]
6. [ ———dx [20]

sin x+tanx

Tabela de Integrais
[sinz dx = —cosx

[ cosz dx =sinx

[tanz dx = In | sec z|

[ cotx dz = —1In|csczl
[secx dz =In|secx + tan x|
[ escx de =1In|cesca — cot x|
[ sec* x dz = tanx

[ esc?x dr = —cotx

[secx tanz dr = secx

[ escx cota de = —cscx

Relacoes Trigonométricas
sin? =1 — cos’z
cos’x =1—sinz

1—cos 2z
2

14cos 2z
2

Sin2x = 2sinx cosx

sin?x =

cos’x =

cos 2z = cos?x — sin®

1+ tan?z = sec’x

1+ cot?x = csc?x

sinma sinnx = § cos(m — n)z — 1 cos(m + n)x
1

cos ma cosnx = 5 cos(m + n)x + 3 cos(m — n)x

sinma cosna = §sin(m — n)z + £ sin(m + n)x

cps o~ e . g,
Substituicao util: z =tan3, sinz = 35,
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